i 7 2= A0 BE 2%

BAfN K
PIMECHT IR, minsEE C




RE

1-MiR. Leetcode-206 : RREEFER

2-M i, Leetcode-141 | A EESR
3-148.Leetcode-202 : RG5EK
4-%38.Leetcode-61 : TEEEHER
5-1X#8.Leetcode-19 : MHBRERMEFEIZE N 1M R
6-118.Leetcode-142 : FFFEEZR I
7-B48.Leetcode-92 : i I

“—

(i S5k 5 B 45k
52 - R AN BE R



e A 45 )

typedef struct Vector {

} Vector;

int size, length;
int xdata;

void init(Vector *vec, int size) {

}

vec—>data = (int *)malloc(size * sizeof(int));
vec—->size = size;
vec—->length = 9;

void expand(Vector *vec) {

int

vec—->size x= 2;
vec—>data = (int %)realloc(vec->data, vec->size * sizeof(int));
printf("expand\n");

insert(Vector *vec, int loc, int value) {

if (loc < @ || loc > vec—>length) {
return ERROR;

}

if (vec—>length >= vec-»>size) {
expand(vec);

}

for (int i = vec->length; 1 > loc; ——1i) {
vec—>datalil = vec—>datali - 1];

}

vec->datal[loc] = value;
++vec—->length;
return 0K;
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typedef struct Vector {
int size, length;
int xdata;

} Vector;

void init(Vector *vec, int size) {
vec—>data = (int *)malloc(size * sizeof(int));
vec—->size = size;
vec—->length = 9;

}

void expand(Vector *vec) {
vec->size %= 2;
vec—->data = (int *)realloc(vec->data, vec->size * sizeof(int));

y BREm = G + GHBRIE

int insert(Vector %vec, int loc, int value) {
if (loc < @ || loc > vec—>length) {
return ERROR;

}
if (vec—>length >= vec-»>size) {
expand(vec);

}

for (int i = vec->length; 1 > loc; ——1i) {
vec—>datalil = vec—>datali - 1];

}

vec->datal[loc] = value;
++vec—->length;
return 0K;
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}

Node *insert_maintain(Node *root) {

if ('hasRedChild(root)) return root;

if (root->lchild->color == RED && root->rchild->color == RE
if (!hasRedChild(root->1lchild) && !hasRedChild(root->rchild)) return root;
root->color = RED;
root->lchild->color = root->rchild->color = BLACK;
return root;

}

if (root->lchild->color == RED) {
if ('hasRedChild(root->1lchild)) return root;

} else {
if (!hasRedChild(rootl>rchi1d)) return root;
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- (root = NIL) return getNewNodGCRGY),
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}

Node *insert_maintain(Node *root) {

if ('hasRedChild(root)) return root;

if (root->lchild->color == RED && root->rchild->color == RE
if (!hasRedChild(root->1lchild) && !hasRedChild(root->rchild)) return root;
root->color = RED;
root->lchild->color = root->rchild->color = BLACK;
return root;

}

if (root->lchild->color == RED) {
if ('hasRedChild(root->1lchild)) return root;

} else {
if (!hasRedChild(rootl>rchi1d)) return root;
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if (root == NIL) return getNewNode(key);
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